Both GCF and Split the middle
term 4x* = 2x—20 -3x* +12x + 15

B8x? —28x — 60 12x% + 10x— 8

112x2 = 168x + 63

Special Cases

Difference of squares x2 =25 x2 =49

- (x~sYx + ) (x+7)(x—-7>
Ve-b)(at ]o)

43t — 9xZ—1

¥ x-3)  (3e-1 Yoxn)

4|



Solving
1* factor

2™ Set linear factors equal to
Zero

3" Solve each linear equation

ab= O

!

-1 -3 -4

145-4
x=3x=4=0

(x-)x +1 ) =0
X-4Y=o| X+l=0O
x=4 /) X=-I

-

—Ip-"S
Sx2=13x+6=0

:.S)rz'-fax)éx +-{.j=0
Sx(x-2)-3(¥-2)=0
(5x-5)(x—=)=0
sx-3+0 X-1=0

sk=> X=2
Xz 75
=3x'+3x+90=0_

_b '}
X"-X-3020
(x-&)(x+§) =0
x:ré )(= 'SH

5x2 =25 =4x? 4+ 24
1% LN
Yy Yy

X 42x=35=0

(x—57(x+?)=o
X-S=zo0 | X+ =0 é..
X=5 X=-7

Bx?—bx=5=10

(4 -5 Yax +1 V= g
Uy-5=0 Ax¥l=D

2xi 4+ d4x=1=Txl=Tx+1

x'-25= 24 0= Sk ~lIx+
S X=-91:=0 = (5x-1)(x-2)
- (X"_?)(Xﬂ):ﬂ? Sx-l=0 X-2=&
== - =;'._
¥=7 X=-1 Sx | X
K:i‘ }{:'5"



X*:.

16x* = 8x — 1

lbx=8x +1 =

(h’px?‘~ ux + D)= 0

x (- -1 (1)
(-1 (1x-1) = O

—

1

6x2—=10x—-4=0

=3

yx - 5x-

(3x #l Yx

\xH20
X* %

2=0

“2)=

X-2=0

X5 &

6|




Solve by taking the Square Root]

A

Solve each quadratic by talking the square root.

a. x2=25
b. x2=12
c. 5x2=175
d.5x2+8=8

e 5x2+15=60

f. 5x2+75 =60

. —5x2+ 75 =60

w

7|




2. Solve by factoring
a 0=x"+4x
O =X(X+4)
x=& X=-¢
b. 0 =3x"+10x
X (5% +10)

¥X=0 Y Llo2dD
x=""%

c, —x2—5x=0
-¥X(¥X+s)=0
X=0 X=°5

d —2x2+6x=0
-2x(x-3¥)=0
x:D )(:}

e x*—7x+10=0
(x-5)(x-2) =0

X=5 X%

f. x*+12x+32=0
(x+ D) (x48) =0
wz=-4 X=-%
g 2x>—18x—-72=0 Kl- TX-% =0
2 (x-13)(x+3) =D
x—.'_j}., K’-‘_S

h. x24+5x=6
X445x-~t=0

(x40)(x-1)=0
Xz-b X=|




J ¥*-81=0
(x+4)(x-4) =0

X=%q

x":ﬁ:{)
(x+ })(X-bj =0
X= 25

l. 16x*—121=0
(4x +0)(1x-11) =D
1

+ —
X= =1
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